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LAW (PAPER-II)

Time Allowed : Three Hours Maximum Marks : 250

QUESTION PAPER SPECIFIC INSTRUCTIONS
(Please read each of the following instructions carefully before attempting questions)

There are EIGHT questions divided in two Sections and printed both in HINDI and
in ENGLISH.

Candidate has to attempt FIVE questions in all.

Question Nos. 1 and 5 are compulsory and out of the remaining, THREE are to be attempted
choosing at least ONE question from each Section.

The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which
must be stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the
space provided. No marks will be given for answers written in a medium other than the
authorized one.

Word limit in questions, wherever specified, should be adhered to.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a
question shall be counted even if attempted partly. Any page or portion of the page left blank
in the Question-cum-Answer Booklet must be clearly struck off.
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@Uus—A / SECTION—A

1. F=afafad v@s #1 39 amm 150 w51 3 A | fafrs wrawEl @ =l okt 6 gema @ o
IT F guda hifse .

Answer the following in about 150 words each. Support your answer with legal

provisions and judicial pronouncements :

fa)

(b)

(c)

(d)

(e)

(b)

Rt qvg Hig, 1860 ¥ Fia I F:fRufy & fam off #fww sy ¥ @
gyt &t fimmg)

Even without mens rea there are certain acts, which are offences under the
Indian Penal Code, 1860. Enumerate such offences.

AT 30E Hedl, 1860 % 3Fmid WIgde ufenen F1 AR Faat Fel =afs £ @ TW 2 T8
iR 1 3R T8 8| fverm fifv

Right to private defence under the Indian Penal Code, 1860 is available only to
an innocent person. It is not a right to retribution. Analyze.

"B g A e % favg fen mn wH, Y wd 9 2 HRdE 3v8 digar, 1860 * fafus
94T % Fehrer # yltaor iR

“Act done by me against my will, is not my act.” Examine in the light of legal
provisions of the Indian Penal Code, 1860.

Ve B Tl e & R ) s B mifiEa 79 21 eeEeTEsE g
#ifsm |

“ Pigeonhole theory’ in the law of tort holds no justification now.” Critically
examine,

"S- 3 WRE A Susie S ) wfiese w9 @ wnfa fe 217 T s ) w9 i

“E-commerce has adversely affected the consumer protection in India.”
Elucidate the statement.

VA B weta & Rl off R w1 eman, a9 F gR s g s 3en § whe
AR I W wEA 21 ffw awe ) wera @ @ s w e e
Iy |

“Any interference with a plaintiff’s property may cause personal discomfort to

the plaintiff in enjoyment of the property.” Critically examine the statement
with the help of decided cases.

"R 2ue Hfed, 1860 I URI 498 A F I F T F F IE@EE F =nE fokt 3
yiafda & e 21" =nfies fofdl 6 wemm ¥ 38 9 6 =wen fifm

“Recent judicial decisions of the courts have changed the spirit of
Section 498 A of the Indian Penal Code, 1860.” Explain the statement with
the help of judicial pronouncements.
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(c)

(b)

(c)

4. (a)

(b)

(c)

‘Il I AE-aY 3R T SEEE €9 4 IRM #, ARE IS IUR SEvIE €Y
At qHe-ay 3R ' 96 71 |y

“Every culpable homicide and murder is necessarily a hurt, but every hurt is
not necessarily a culpable homicide and murder.” Elucidate.

A% R B % 990 # AISH FS TEEd Hl I A H 5o s R, fhg i A
G 98 Tl ¢ 6 3w sareta € R, AfF A 3 wmg € 100 @1 A @fem # @ g,
R A9 C & s o) fofa Hifv 75 A 3 Fa-w1/3 seoy B &/R ¥

A attempts to steal some jewels by breaking open a box belonging to B and
finds, thereafter so opening the box, that there is no jewel in it, but A
simultaneously puts ¥ 100 currency note in the box, which was already stolen
by A from C. Decide as to what offence(s) is/are committed by A.

IFggiea sfoat 3R srggfa sAefoat (sramer framo) sifufem, 1989 it ga sran =1, R
EUITH A FRATY FEST A agw R o, v € § faurfe 3 g =
o 2 woTEEATRS wheon Fif)

The basic spirit of the Scheduled Castes and Scheduled Tribes (Prevention
of Atrocities) Act, 1989, which was diluted by the judiciary in Kashinath

Mahajan’s case, has been restored by the legislature recently. Examine
critically.

" AT I JHEE g arelt 9 T € a9 )l A € TF % 918 T ®, qel HRUdl 6
Ffifrva o gwen A 21 s A fafy % srwla foffa awet 6 wem@ @ =wen Fifvm)

“Ascertainment of causation is a problem, when the events causing damage to
plaintiff are not simultaneous but successive.” Elaborate it with the help of
decided cases under the law of tort.

“w @UiRR g AR % wE § 9l A # 3o gEue f sravEsa @i R, e
fafecae gr1 At & ®M A weatufee 7 e 217 AP b Ay F i gaEee
F1 #ife et fafty i =rEn fifsw)

“A goldsmith putting earring to woman’s ear does not require as much care as
a surgeon performing surgery on the ear of woman.” Elaborate the law relating
to degree of care required under the law of tort.

“forem e F TuFe 9d BR H Faw shfew dd € srorEvs T E, ﬂﬁg?ﬂﬁﬁﬁ
HAATIReE Hard ff w6 Bt 3| el wlem Rifs)
Mere physical boundaries are not the essential requirement to constitute the

tort of ‘false imprisonment’, but psychological boundaries too are enough in
this regard. Critically examine.

““forelt wften % foeg diet T vl % g1 dwa 1 @ieA @ R geee & oy &
F AAT <N R g ) faf 3 srata wheon Hifvg

“Imputation of unchastity against a woman by spoken words is a wrong
actionable without proof of special damage.” Examine under the law of tort.

20

20

15

15

20
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@Uvs—B / SECTION—B

5. fTrafafen v #:1 3w @mm 150 w=dt & difv) swge faftes swerdl 9 fooffa @t 6 wemar &
Y I FHAA FR

Answer the following in about 150 words each. Support your answer with relevant

legal provisions and decided cases :

(a)

(b)

(c)

(d)

(e)

6. (a)

"wfarra i faft Fdt A gt By 98 3, o 3 @ 3z ot i gt fafy @, g == 94
F St 9 el @ oft gt 21 g e A

“The law of contracts is not the whole law of agreements, nor it is the whole law
of obligations, but it also deals with the rights and obligations of both.”
Elucidate.

“arfierll =1 fawes, wrfed v 1 e g &, weg srfierdt v & faeea, woierd @1 famea
8l g 217 faftres wrmuEl iR Al ) wrEa @ fade S

“The dissolution of partnership is the dissolution of a partnership firm, but the
dissolution of a partnership firm is not the dissolution of partnership.”
Elucidate with the help of legal provisions and cases.

“Arniea gehenast @t gl hit g1 7€ 2, 77 <Al ® 9Er ) R f e geEm #
a1 ot =rTed 1 waed 81 feerdiero Sifsmg |

“Public interest litigation is not the pill of all ills, it is the boon of the courts.
However it is also the duty of the court to prevent its misuse.” Elucidate.

“afirror (Tert) it d@fae, am Al 6 it sforefa @, wg wf-wft e
F1 avE 2 ® 1" Foffa aEl @ gETe yEurEl B geea @ fawemn A

“Contract of agency is revocable like an ordinary contract, but sometimes it is
impossible to repudiate it.” Analyze with the help of decided cases and relevant
provisions.

‘it & foe gE % sfteR 6 FEEiE e WRa # guea f Fel ], Weg 39 0w
TS % STTEY T AL FE R s w1 1 Secft WRg @MW WRT @9, $Ed 2019 § WRd
% Iaw =T % ol &y § e wiem Hif)

“Pragmatic regime of right to information for citizens is the key to good
governance in India, but it is not being implemented in its original spirit.”
Examine it in the light of decision of the Supreme Court of India in
Anjali Bhardwaj vs. Union of India, February 2019.

“dfa ¥ 3niem & @ w1 s wite A R, feg wfem F 9§ stavas w9 @ wfaa @
I WA TE g1’ I9gw JEA & WY W FIA 1 wEor Him )

“Discharge of a contract includes breach of contract, but breach of a contract
does not necessarily include discharge of contract.” Examine the statement
with suitable illustrations.

SDF-B-LAW/8 4

10x5=50

15




(b) T wiE iR, R T vt £ guan 3R T qU I W wEeE % we
@rwﬁmm&ﬁaﬁﬁﬁﬁaumﬁéﬂ%mm%ﬁmﬁﬂﬁsﬁ,%waﬁﬁ@m
A B A A e AR T we W g e s g g e fie % we
Tl i |

“The National Green Tribunal, which was established for effective and
expeditious disposal of cases relating to environmental protection and
conservation of forests and other natural resources, has played a pivotal role
in the recent past in this regard.” Examine the statement with reference to
pronouncements given by the National Green Tribunal. 15

(c) ureeR fafr % srmwia sfmmian # wfififfm won o 9 T 21 g DR siifem
% gama faft sl <, e =mareE g sy Afm v % e, s=men Hftw)

Ascertainment of jurisdiction is a big challenge under the cyber law. Elaborate
the relevant legal provisions of the Information Technology Act along with
various tests applied by the Indian courts. 20

7. (a) “IRE v gfe w1 R sveawa: dfve Rt § of femm 20 e R s 6
e i |

“The principle of unjust enrichment finds place indirectly under the law of
contract.” Explain its various dimensions. 15

(b) SReTH= AfEE B A YeH w0 § fifte Ja miteo sififem, 1087 # swefih S5E
foame quam @ 3 v wewl v @ frdem R 21 fafies weuEl 9 9r R e
H =g i

“Alternative dispute resolution mechanism as provided under the Legal
Services Authorities Act, 1987 has played a pivotal role in dispensation of
justice to the needy persons.” Explain with the help of legal provisions and
case law. ‘ 15

(c) “‘fasra 1 @femt & vmER Wl % i A watya SRaw o9 9 e w5 3 e
forsha 1 fofty % a1l o fafvm st ) Rreargds wwems)

“Parties to the contract of sale may reduce or enhance the risk relating to
passing of property.” Elucidate its various dimensions under the law of sale of
goods. 20

8. (a) “‘a0HH wHA A IR B wgE F Afoewn qw widge Rt ¥ 6" o e foam 21 S
faft % s, 3faa sraer % fagr & v A, 3@ F9 1w A :

“In the present time, there is a conflict between the right to access to
knowledge and the copyright law.” Explain the statement in the light of
doctrine of fair dealing under the copyright law. 15
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(b) ‘e F ww  fRE F W ahee =W, < § AwE v § g R ®
g 21 wra  Yofous faR wuE ToTel % SR fawmEt % w39 YA w1 wle
Hifi
“Approximate justice with finality by the way of arbitration is against the basic
principle of administration of justice in the courts.” Examine the statement in

the light of latest developments of alternative dispute resolution system in
India. 15

() “wiveaut Ay v iy =1 P wEeR R selemaen # dEeE % @ Fae B gRfEd
FA ¥ U G F w0 3§, wieeadt a9 wEE o swh wEf e 217 wra § Ta e
yRgva % v § 39 Fo ) fargEs we Hif

“The basic purpose of competition policy and the law is to preserve and
promote competition as a means of ensuring efficient allocation of resources in
an economy.” Elucidate the statement in the light of new economic scenario in
India. 20
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